CHAPTER-8
' ALGEBRAIC EXPRESSIONS

Students Learning Outcomes

~ After studying this chapter, students will be able to: _
> Define a constant as a symbol having a fixed numerical value.

> Recall a variable as a quantity which can take various numerical values.

> Recall a literal as an unknown number represented by a letter of an alphabet. |
> Recall an algebraic expression as a combination, of constants and variables connected by the

sign of fundamental operations.
= Define a polynomial as an a

numbers. . |
> Identify a monomial, a binomial and a trinomial as a polynomial having one term,

and. three terms respectively. - . %% i
Add two or more polynomials. < TN |
Subtract a polynomial from another polynomial.
Find the product of:
monomial with monomial.
monomial with binomial/trinomial.
binomials with binomial/trinomial. |
Simplify algebraic expressions involving additions, subtraction and multiplication.
Recognize and verify the algebraic identities: |
(x+a)(x+b)=x2+(a+b)x+ab, '
(a+b)2=(a+b)(a+b)=az+23b+bz,

(a-b)?=(a-b)(a-b)=a’-2ab+ b2,
52 — b2 = (a -b) (a + b).

- Factorize an algebraic expression (using algebraic identities).

Factorize an algebraic expression (making groups).

lgebraic expression in which the powers of variables are all whole

two terms
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SOLVED EXERCISE 8.1 .

1. ' Add the terms to write an algebraic éxpression.

Solution:
(i) 2ab, 3bc, ca
=2ab + 3bc + ca
(i) 7t4,3m?, -8
' =7t2+3m?2+(-8) = 7t2+3m?-8
("l) | pzr *-'qzr I
="p2 _qz .
~(iv)  Sxyz, 2yz,-8xy
= 5XyZ + 2yz-8xy
(v) -2ab,-2a-bc, c
=-2ab-2a-bc+c
(vi) 9lm, 8mn, -10ml, -2
=9Im + 8mn -10ml -2

2, ‘Write constants and variables used in each expression.
Solution: 4
% | Variables Constants
(i) X+3 X iy
(ii)  3a+b-2 a, b. ' -2
(iii) |12+ m2+n? , m, n -
- (iv) 5a a
(v) 2x%-1 e | Wt
(vi) . 31%-4n? iesln
3. Identify monomials, binomials and trinomials.
Solution: | i
(i) X+Y-Z . trinomial
i)  -61 monomial
(ili) 2x4-3 Lo e bl Romal
[lv). :abc.: .. _ monomial
(v)  x242xy+y? ~ trinomial
(vi)  (-a)? ~ monomial
(vii) I-m . binomial
viii) 7a?- b? | binomial
(ix) Im+mn+nl trinomial
(x)  2a-3b-4c trinomial
(xi)  11x?y? monomial

(xii) a3+ aZb + ab? trinomial



:'I) Azdd the following poly’norriials.
| XT+2XYy +y2, x2 - 2xy +y2
Solution: i

X% + 2XY + Vit
X2 - 2Xy +y2 -

i) 34 3x3x2-2xy? +y3, 2x3 - 5x29 - 3xy? -2y’
Solution: | | |
X3+ 3x2y - 2xy2 4 Y=,

- 2x%3 -5x2y - 3xy2 - 2\3 e

(iii)  a%+a3b-2ab3+ 5-3;435 + 3a3b + 2ab3 + 5.b3
- Solution: | '

o
43> + 3a3b £2ab3 + 5h3

5a” +4a3b + 6b3

(iv) 2)(4y- 4x3y2 +'33'x2'y3-7xy“, Xy - 4i3y2 -3X293 + 8xy*
Solution: j - i B .

(v) ab’+12a%b? - 6a’b3+10a%b?-a’h , 4ab° - 8a%b® + 6a3b3- 6a’b? + 4ah
Solution: | T | Qs ' ' |
ab’® +12a2b* - 6a3b3+1;a/457 - “ash,
4ab> -8a‘b® + 6a’b’-6a’b? +4a°b
5ab° + 4ab% + 4a%b? + 3a°b

74 If A= x-2y +2, B =-2x +y +z and C = x+y-2z then find.

Solution: | o '

(i) .. A-B' =(x—2y+z)—(-2xHYy+2)
=x—2y+2+2x—y—2=3x3y=3(x-y)

(li) B-C #(-2)( +y+Z)‘—_(X +'y-—22)
= 2x+y+2—X—y+2z2=-3x+32=3(z-x)
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i) C-A =(X+y=22)-(x-2y+2) ; | Poo
| EXHY=22-X+2y-z2=3y-32=3(y-2) AR

(iv) A-B-C = (X = 2y +2) = (-2x+y+2)— (x +y— 22) |
~ =X—2y+Z4 2X — Yoz Xs y+22-2x 4y+22-2(x 2y+Z)

(V) A*'BC'(X 2V+Z)+(2X+y+z)-—(x+y 22)
=X—2Y+Z-2X+y+2-X=y+2z °
= e2X— 2y+_-4z--2(x+y 27_)

(v} A-B+C= (X - 2v+z)-(2x+y+z)+(x+y 22)
: =X— 2y+z+2x "Y=Z+X+Yy—22=4x=2y - 22"'2(2X y.=iz).

What must be added tox7-x5+x5 XLE D = XS X oA 1to getx7+x5+x3 1>
Solutlon |

+X fszx Z/1+x X +x +x

| -2+ x° +x* +x —X _
Added by Ko Aot X2 2 then we get X7 + X5 +x3 1

| 4.5 What must be added to 2x%y3 x3y 3x2y 4 to get Sx“y3 + 2x3y + xzy -9? "
Solution: _ X | 2
- 5xty? 4 2%y +xy —9

”i-2x“y3¢x3‘y2 F3x yF4:

3x'y’ +3x’y? P Ax2y o5t -
‘Added by 3x4y + 3x3y2+4x%y-5 then we get 5x4y3+ 2x3y o xzy 9

S What must be subtracted from 5x5y -3x3y3+10xy 9to get 3x5y a8 7x3y - 11xy + 19
Solutlon . -
5%y’ —3x’y +1'0xy -9
8x°y’ +7x°y’ Fl1xy +19
2%y’ -10x’y’ +21xy 28
| SUbtracted by 2x5y5 — 10x3y +21xy — 28 then we get 3x5yS + 7x3y3 11xy +19.

0:00’0000 il % |
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SOLVED EXERCISE 8.3 | |

1% Multiply
A Solution:
(i) 7m and -8
(7m) % (-8) = -56m

(ii) 2ab and 3a%b? | ' | . ‘ l
= (Zab) X (332b2)_
= 6a3b?

(iii)  4xy and 2x%y
= (4xy) x (2x?y)
= 8x3y2

: (iV) -4ab aand-2bc
= (-4ab) x (-2bc)
= 8ab’c

-~ (v) 3Am3 and 3mn
=(3Am3) x (3mn) =9Am*n

(vi) - -6x?%y and 3xyz?
= (-6x%y) x (3xyz?)
= -18x°y?z?

(vii)  (2a%b) and 5a2b?
(2a2b) x(5a%b3) = 10 a*b?

(viii) A2mn and Am3n°®
(A2mn) x (Am3n®) = Pm*n’

(ix) = -4x%yz’ and 8xy*z®
= (-4x2yz’) x (8xy?z3) = -32x3y°z1¢ * ’ | ' |

2 Simplify:
Solution: - |
(i) Am (A+m) = A2m + Am? Dl , |
| (i) 4p(p+q) = 4p2+4pq
(iii)  3a(a-b)=3a%3ab




2x(3x+4y) = 6x2-£-8xy
2a(2b — 2¢) = 4ab —4ac

ala+b-c)=a’+ab-ac

22%m(A2m?-n) = 223m3 — 2Xmn

3x(X — 2y — 22) = 3x? — 6Xy — bxz h
- 3p?a(p’ +q*—r?) = 3p°q + 3p”g* - 3p’qr®

SOLVED EXERCISE 8.4

(ii)
m+ 2
X m—2
m2 + 2m
-2m—4
m?-4 |

e e e

(iv)
p’>+pq+q°
XiDl=: ¢ el

p® +p?q + pg’
7¥ 2 _ g3

A 1

(Mm+2) (m-2) ‘

a+b
Xxa—Db

i) (L-m) (A2-2BAm+m3)
A2-22m+m®

XL—m

A3 -202m + Am?3

“2m  +2)xmZm*
A\3-302m + Am3+2Am?-m?

A SOATTILT AW e ——

(3p —4q) (3p +44)
3p-4q '

(p-q) (P2 +pq+9q?)

(vi) % (a + b) (2 -_b-)_ .



+ 2¢c —A4c?
1 - 4c?
(viii)  (2x - 1) (4x2 + 2x +1)
Ax2 + 2x + 1

x 2% - 1
8x3 +4x%+2X

2. Simplify:
Solution:

() (@+y?) (3x+2y) +xy (x-3y)

= 3x3+2x%y + 3xy* + 21f3/X2Y W

= 3x3 + 3x%y + 2y°

(i) (4x+3y)(2x-y)-(3x-2y) (x+Y)
= (8x2 — 4xy + 6xy — 3y?)- (3x2+3xy 2Xy- 2y
= 8x% + 2xy — 3y —3x2—xy+2y -

= 5x2 + Xy — y?

(ii)  (2m2-5m +4) (m+2) - (m?+7m - 8) (2m -3)
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xa+b

ad-a%b+ah?

+a‘b —ab? + b3
a® + b3 '
()%)— (3 -b) (2b- b? +3)
2b - b +3
x3-b |
6b-3b%+9

- - 3b -2b* + b3

| 3b-5b%+9+b3 e,

= (2m3-5m2+4m+4m?2-10m+8) —(2m*+14m?- 16 m -3m?*-21m +24)

= (2m3-m?2-6m+8) — (2m3+11m?*-37m + 24)
= 2m3-m2-6m+8 — 2m>-11Ar+37m - 24

=-12m2+31m - 16

(iv)  (3x2+2xy - 2y?) (x +y) - (x* -xy+y?) (x -y)

= (3x3 + 2x%y - 2xy? +3x3y F2xy? -2v3kr’3-x2v+xv X2y +xy2 -y3
y +xy? -y°)

= 3x3 +5x2y - 2y3 - X>+2x%y 2XY2+V

= 2x3 + Iy = 2xy? — y?
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SOLVED EXERCISE 8.5

- 1,  Simplify the following binomials.
Solution: _
(i) (x+) (x+2) ,
=x2+2X+X+2=X243x 42
() (x2) (x-4)
= x2 -4X -2X+8 = X2 - 6x + 8

i) (a+5)(a+3)
=a?+3a+5a+15=a2+ 83 + 15

v) - (2x+3) (2x-7) R
= 4x?- 14x + 6x -21 = 4x? - 8x -21

(vij (2y+1)(2y+5)
=4y’ + 10y + 2y +5=4y2 + 12y + 5 ;

(vii) (3b-1)(3b-7) y
=9b?-21b-3b +7 = 9b? - 24b + 7 f _

(viii) (4x +5) (4x + 3)
= 16x2 + 20x + 12x +15
= 16x2 + 32x + 15

(ix) -~ (Sy-2)(5y+6) |
=25y% + 30y — 10y — 12 = 25y? + 20y — 12

x) (8a+7)(8a-3)
= 642 — 24a + 56a — 21
=643+ 323 - 21

2 By using identity, find the square of the following binomials.

Solution:
i) (x+y)2=x2+y2+2xy

(i) (3a+4)2=(3a) 2+ (4)* + 2(3a) (4)




=932+ 24a+ 16

(i) (x—y)2=x2=2(x)(y) +V*
= x2 — 2xy +Y* -

(iv)] (a+2b)*=(a)?+ 2(3) (2b) + (2t_>)2 '
_ = a2 +4ab +4b? -

(v)  (2x+3y)? = (2x) 2 + 2(2x) (3y) + (3y)’
= 4x2 + 12xy + 9y?

i) (2ab) = (2a)2-2(2a) (b) +(b)?
= 4a% - 4ab + b?

(vii)  (3x-2y)2= (3x)2- 2(3x) (2y) + (2y)?
= 9x? - 1%Xy + 4y?

(viii) (4x + 5y)*= (4x) 2 +2(5y) (4x) + (5‘y)2
e 16x2 + 40xy + 25y2 |

(ix) * (7a-8b)?
' =(7a)? - 2(7a) (8b) + (8b)?
= 4932 —-112ab + 64b%?

3. Find thé product of the following binomials by using formula.
Solution: | |
i) (ey)xy) =Pl =xi-yl

(i)  (3a-8)(3a+8). =(3a)?—(8)2=9a2-64
(iii)  (2a+ 7b) (x- 7b) = (2a)* - (7b)? = 4a% — 49b?%
(iv)  (x+3y)(x-3y) = (x)*— (3y)>=x*-9y*

(v) (6a -5b) (6a + 5b) = (6a)* — (5b)? = 36a2 — 25b*
(vi)  (9x- 1ly) (9x + 11y) ek

= (9x)2- (11y)>

= 81x2 - 121y?



1, Resolve into factors.

Solution:
(i)  Sx°y —10xy?
= SXY(X o Zy)

(i) 2a-4b+6c .
= 2(3 = 2b + 3C)

| (iv) a’b + a’b? + ab3 ;
=ab(a? + ab + b?)

| (v) xzyZ + Xy%z + xyz2
= xyz(x+y+2) |

(vi)  bx®+bx? 54
= bx4(x+1)-1(x+1)
- (X R 1) (b)(2 — 1)

| | (vii) X+qx+px+pq
= X(x+q)+p(x+q)=(x + q)(x + p)

(viii) ab-a-b+l
-alb—-1)—-1(b-1)
=(b-1)(a—1)
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SOLVED EXERCISE 8.6

2. Factorize by using identity.

Solution:
(i) 4a%25

Lo

=(2a)?-(5)*=(2a+5)(2a-5)

W‘

(ii) 4x2-9y?
= (2x)% — (3y)?
= (2x + 3y) (2x - 3y)

(iii) 9a2-b2

=(3a)2-(b)2=(3a+b) (3a-b)

(ix) (pm+n)+(pn+m)
=pm+m+pn+n
=m(p+1)+n(p+1)

= (p+1) (m+n)

(x) (a2 + bc)-(b+c¢)a
=a‘+bc—ab-ac
=a’—ac—ab + bc

|=ala=c)—b(a-c)
=(a-b)(a-c)

(xi) x2-(m+n)x+mn
= X% = mx —nx + mn

= X(X - m)-n(x-m)

= (x-m) (x-n)

(xii) x3-y2+x-xy2
= x3 — X272 + X-y?
= x4(x —y?) + 1{x — y?)
= ()(j— y2) (X2 + 1)

(iv) 9m2-16n2 | fe
=(3m)2 - (4n)* = (3m +4n) 3m  -4n)

(v) 16b?-a?

- (4b)2—(a)2 = (4b+a) (4b-a)

(vi) -1(1)%+ (x+1)?
= (x +1)2 - (1)?
=(x+1-1)(x+1+1)
=x(x + 2)
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| = 7(x3=y)
(vii) 8x%-18y? o] =7(x4y) (x=Y)
= 2(4x? - 9y?) | | (xi) 5a?-20b?
= 2[(2x)2-(3y)*] = 5(a? - 4b?)
= 2(2x + 3y) (2x — 3y) = 5[(a)? - (2b)?]
(viii) (a+b)?-(c)? | = 5(a + 2b) (a — 2b)
=(a+b+c)(a+b-c) | |
| (xii) x*-y*
(ix) x2-(y+2)* = (x2)2 = (y*)*
=(x+y+2z)(x—-y-2) = (x2 = y2) (¢ +y?)
= (x+y) (x—y) (¢ +y?)
(x) 7x3-7y? |
| SOLVED EXERCISE 8.7
1. Resolve into factors by using identity.
Solution:
(i) x%+8x+16 = (4a + 7b)*
= (x)2 + 2(x) (4) + (4)° |
=X+ 4)5
| (viii) 36x2+ 108xy + 8 ly?
(M) -2 | " = (6x)%+ 2(6x)(9y) + (9y)*
= (x)2 = 2(x) (1) + (1)? _ =(6x +9y)*
- ()(- 1)2 T |
| | (ix) 49m?+154m+121
(iii) a%14a%+49 | = (7m)?+ 2(7m)(11) + (11)?
= (a2)2-2(a?) (7) + (7)?=(a*-7)* | = (7m + 11)° '
(iv) |+10m+25m? (x) 64a2-208ab + 169b*
= (1)% + 2(1) (5m) + (5Sm)* = (8a)?- 2(8a)(13b) + (13b)?
= (1 + 5m)? ' = (8a -13b)?
(v) 4x- 12xy + 9y’ . ' (xi) 3x%+24x°+48
= (2x)2 - 2(2x) (3y) + (3y)* | = 3(x*+ 8x* +16)
- (2x-3y)? - i = 3[(2)2 + 20¢) (4) + (4)1]
| = 3(x%+4)*
(vi) 9a?+ 30ab + 25b? |
= (3a)2+ 2(3a)(5b) + (5b)* _ (xii) 11x%+22x+ 11
= (3a + 5b)? | =11(x2+ 2x +1)
. - = 11[(x)%+2(x)(1)+(1) *]
(vii) 16a‘+ 56ab +49b? . =11 (x+1)¢

= (4a)?+ 2(4a)(7b) + (7b)?



(xiii) 44a°-442a°b + 11a%b?

- 11[4a%*43°b + a?b ?]
= 11 [(2a%)* — 2(2a2) (ab) + (ab)Z]
=11 (2a* - ab)?

(xiv) a*+16a’b + 64b?
= (a?)? + 2(a?%)(8b) + (8b)2

"

s
(i)

= (a + 8b)?

- (ax)? + 2(ax) (bc) + (be)’

;(aX"l'bC)z .
LR £-‘---+4€’mn+m2n2
: 4 |
: ¢
=(§) +2(-—2-)(mn)f(mn)2
' 2
=(£+mn)
2
i) 4, o
—X* — Xy +—
s ook

e

Factorize by using the identity.
a’x? + 2abcex +b?¢c?

(xv) 1-4xyz + 4x2y?z2
= (1)2 - 2(1) (2xyz) + (2xyz)?
= (1 — 2xyz)?

(xvi) 16x%y -40x%y? + 25xy3
= xy[16x% — 40xy + 25y?]

| = xyl(4x)2 - 2(4x) (5y) + (5y)2
= Xy(4x — 5y)? _

7
G0 G

I(vi) 4 2 T
f..x"—ze Xy +‘m—'y

n
- 1[847{4 —2€2mzx2y2 +m4y4]
n

N l[(filxﬁ )2 £ (£2x2 )(mzy2 )+ (mzvy2 )2:\

N
2

= (@x=my’)

M) %’ - 2a%blodxy +albidy’
= (abex)’ -2(abex ){abdy) + (abdy)
g (abcx —abdy)_2 -

(vill) b2 bk i
s Qi e y+—x y

C d a | |
2 2
IRCII)
C C d d
CEOM
X* +—Xy
X L
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SOLVED EXERCISE 8.8
1. Factorize the following expressions.
Solution: + ' | | '
(i) Ix-my+mx—~Ly | : A
= ¢x — fy + mx —my | (vii) x?-9x+3x-27
={(x-y)+m(x~Y) - =x(x-9)+3(x-9)
=(x-y)(¢-m) , =(x-9)(x+3)
(i) 2xy—6yz+x—3z | - (vil) 22 -82-4z+32
=2xy+x—6yz-3z =2(z-8)-4(z-8)
=x(2y+1)-3z(2y+1) ody = (2-8)(z-4) |

=(2y+ l)(x —-32)
(ix) t*—st+-t—s

(ii) p®+2p-3p-6 g ' - =t(t-s)+1(t-s)
 =p(p#2)3 (RSl adied ST (1))
=(p+2)(pP-3) ' ' ' |
(x) n*+5n-n-5
(iv) x*+5x—2x-10 | | =n(n+5)-1(n+5)
=x°+5x-2x-10 “ |l i
=x(x+5)—2(x+5) i - S B
=(x+5)(x-2) - (i) a’b’+7ab—ab-7

=ab(ab+7)—1(ab+7)

(v) m2—7m+2m—‘14 | w=(ab+'7)(ab-—-1)

=m(m-7)+2(m-7)
=(m-7)(m+2)

(xii) ¢’m’-13/m-2/m+26

=

(vi) a*+3a—-4a-12 | = /m(¢m-13)-2(¢/m-13) |
=a(a+_3)-4(a+3) =(£m—13)(f’m——2)

=(a+3)(a—4)
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SOLVED REVIEW EXERCISE 8

1.  Answer the following questions.
(i) What is meant by literals?
Answer: |

The letters or alphabets that we use to represent unknowns numbers are called literals.

(i) Define a constant.
Answer; s R
A symbol having a fixed value is called a constant.

(iii) Whatisa binomial?
Answer:
A polynomial having two terms is called a binomial.

(iv) What is an algebraﬁic identity?

Answer: |
‘An algebraic equation which is true for all values of the variable occurring in t

algebraic identity.

he relation is called an

(v)  Define the factorization of an algebraic expression.

Answer: :
Factorization of an algebraic exp
expressed as a product of simpler expressions.

ression is a process by which a given algebraic expression can be

I

2. Fill in the blanks. ‘ w
e

() . (a+b)?= a’+2ab +b? Z
(). - (a— b)blanks-2ab + b?

(iii) (x+a)(x+b)=x2+.(a+b)x+ab

(v) A symbol represented by a literal an
(vi) A polynomial having only one term is called monomial.

d can take various numerical values is called a variable.

3. Tick (v") the correct answer.

(i) = x4x=7

(a) X (b) v x(xx- )
(e} 2 X~ (d) X — X*
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(c)¥/ binomial (d)  trinomial

(iii) A symbol having a fixed value is called a:

(a) term (b) variable
(c)¥" constant (d) literal
(iv)  The factors of a2- 9 are: |
(a)v (a+3)(a-3) (b) (a+9)(a-9)
() (a-3)@a-3) (d) (a-9)(a-9)

) (xy)(xy)=? ,
(a) iy (b) XA 2xy+y’

() x2-2xy+y2 (d) x4y’

4. Resolve into factors:
Solution: |
(i) 10aZ - 200a°%b - x(a2 +1 1)—16(&" +1 1)
= 10a2 (1 - 20a%b -
eiig a0y . | = (2 +11)(x-16)

(ii) 36x°y°z" — 27x’y'z+ 63xyz"

| ' | AT 2
=9xyz(4x2yzzz—3xy3+7z3) (v) ab+abxy +ab+2z" + x'c+xyc+cz’

— ab(x® + xy+z°) +c(x* +xy +2°)
- (x* +xy +2° )(ab +c)

(iii) 15x*y +21x’y” —27'1-;2y2 —33){)!4
=(ab +c)(x2 + XY +fzz)

S OXY (5)(3 +7x%y —9xy —1 1y3)

~ (iv) xal+11x—16a*-176




6. - Simplify the following polynomials.
solution: ‘ | .

(i) (x-2y) (x+2y) | ' =34 —pt ‘ _
= x% —2xy +2Xy —4y* = x? —4y? 7
' (vi) (a%+1)(a2-a-1)
=a’ —a; —4? + ¢’ =a=1
=a'-a’-a-1

(iii) 2X (x+y) -2y (x-y)

: (vii) _x(y+‘1)-—y(x+l)—-x—y
= 2x* +2xy —2Xxy + 4y

e £ =AY A= YOSy = Xy
=2x* +4y’ =2(x +2y?) S £ .

(iv) (a2b3) (2a-3b) o | |  (viii) 42 (bz -02)'+b2_ (cz _az)_‘_cz (az _bz)

W) (a7 (e )
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7. Simplify the following by using identity.

Solution: ok i
M. (x-a)(x:s)t 1l (2a-5h)% it
—9x2E15x—12x=205 i =(2a)" +(5b)" —2(2a)(5b)
= 9x +3x 20 S8 05, [ 2497-20ab+25b°
8. Faétériie._ L.
Solution: | | - J
() a2-26a+169." _ (Tx+Ty+4x—4y)(Tx+Ty—4x +4y).
(f 2@+ =E-13) (11x+35) (x+119)
os LN e . 4. 4 _4 : : ‘
(ii) 21 0X Y:Z; +IX Y- 25 ; (vi) -2-32+ab+ib2
=(1) —2(1)(3x2y222)+(3x2y222) | 16 ok
el o | -G G350
: : . : | | 2 .
(iii) = 7ab*-343a B i | _(ia+%b}
=7a(b?—49)=Ta| (b) =(7)"| . ' |
=7a(b—-7)(b+7) - | ' Vi f‘igz._.zjﬁfm-i-imz
| : basits o bies . abd d’
(iv) 2 | a\ FaNc E);
R e
:3]:25—'()(—)1) ]:3_(5) "'(X""y) :l =(Ef’_£m)2
=3[(5+x-)(5-x+3)] ety
A (viii) 0\ 36
. ) 2 _ s e g
(V) 49(x+y) ~16(x-y) - ' [a 5) S

ST AIGNT o e T
*=lg7()({+y)):t;—‘(x—Ej][?(x}-:—y)—él(x—y)] g =[a—2) _(Em) |






